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N. F(z) = f cos(t?) dt = — [Fcos(t?)dt = F'(z) = —cos(z?)
discontinuo

12. f(0) = tan6 and F(z) = fﬁ tandd = — [, tan 0 df, so by FTCl, F'(z) = —f(z) = —tanz.
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40. Splitting up the region as shown, we estimate that the area under the graph 49. (.
isZ+5(3-3)~18 The actual area is
f(;r/sseczmdw = [tanz]7/® = V3-0=+3=~173.
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48. For the curve to be concave upward, we must have gyt 08— /0 ETEET dt = y = Tpw
s — (14 2x) : : e : 22
y" = ——————— . For this expression to be positive, we must have (1 + 2x) <0, since (1 +z+a ) > 0 for
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alz. (14+422) <0 & z< —1. Thus, the curve is concave upward on (—o0, —3)-



